
Employees   Detailed tables

Total BC AB SK/MB Ontario Quebec Atlantic <$30K
$30K - 
<$60K $60K+ Kids No Kids

A B C D E F G H I J K
Base: Employed 804 104 90 78 315 154 63 61 266 477 91 713
Weighted 804 106 82* 52* 308 196 60* 61* 274 469 92* 712

297 30 25 23 110 85 25 18 92 188 26 271
37% 28% 30% 45% 36% 44% 41% 29% 34% 40% 29% 38%

AB AB

275 37 24 18 95 80 21 16 98 160 40 235
34% 35% 30% 35% 31% 41% 35% 27% 36% 34% 43% 33%

D

232 40 33 11 104 31 14 27 83 122 26 206
29% 37% 40% 20% 34% 16% 24% 44% 30% 26% 28% 29%

CE CEF CE HI

A hard stop at a specific time where you 
can exit the company and then go on to 
do whatever you want
An easing into retirement where you could 
start working flexible hours or part time 
leading up to a specific time where you 
can exit the company...
Staying on with your current employer 
after what would normally be considered 
a stop date so you could continue to work 
for a full or part-time duration.

2. Which of the following scenarios best illustrates your ideal retirement circumstance at your current job? ____________________________________________________________________________ 
Proportions/Means: Columns Tested (5% risk level) - A/B/C/D/E/F - G/H/I - J/K Overlap formulae used. * small base

REGION HOUSEHOLD INCOME HOUSEHOLD 
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Employees   Detailed tables

Total BC AB SK/MB Ontario Quebec Atlantic <$30K
$30K - 
<$60K $60K+ Kids No Kids

A B C D E F G H I J K
Base: Staying on with current employer

236 39 36 16 106 24 15 27 83 126 27 209
Weighted 232 40* 33* 11** 104 31** 14** 27** 83* 122 26** 206

136 20 17 8 63 19 8 18 42 76 17 119
59% 51% 53% 75% 60% 62% 60% 66% 51% 62% 66% 58%

96 19 16 3 41 12 6 9 41 46 9 87
41% 49% 47% 25% 40% 38% 40% 34% 49% 38% 34% 42%

Part time

Full time

2a. And would that mainly be full or part-time? ____________________________________________________________________________ 
Proportions/Means: Columns Tested (5% risk level) - A/B/C/D/E/F - G/H/I - J/K Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing
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Employees   Detailed tables

Total BC AB SK/MB Ontario Quebec Atlantic <$30K
$30K - 
<$60K $60K+ Kids No Kids

A B C D E F G H I J K
Base: Staying on with current employer

236 39 36 16 106 24 15 27 83 126 27 209
Weighted 232 40* 33* 11** 104 31** 14** 27** 83* 122 26** 206

111 20 19 3 44 18 6 16 45 50 13 98
48% 51% 58% 31% 42% 58% 46% 61% 54% 41% 52% 47%

50 4 6 2 20 15 3 12 19 19 4 46
22% 10% 19% 19% 19% 50% 20% 46% 23% 16% 15% 22%

3 0 0 0 3 0 0 1 1 1 0 3
1% - - - 3% - - 4% 1% 1% - 1%

58 16 13 1 21 2 4 3 26 30 9 49
25% 41% 39% 13% 21% 8% 26% 11% 31% 24% 37% 24%

D D
114 19 13 7 54 13 8 10 34 70 12 101

49% 49% 39% 69% 52% 42% 54% 36% 41% 58% 48% 49%
H

7 0 1 0 6 0 0 1 4 2 0 7
3% - 3% - 6% - - 4% 5% 2% - 3%

2c. And what is the main reason you want to do this? ____________________________________________________________________________ 
Proportions/Means: Columns Tested (5% risk level) - A/B/C/D/E/F - G/H/I - J/K Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing

REGION HOUSEHOLD INCOME HOUSEHOLD 

I want to stay active and challenged and 
the money and the health benefits are a 
bonus
Other

Net - I have to

I have to -- I need the money

I have to -- I need the health benefits

I have to -- I need the money and the 
health benefits

Canadian Online Ipsos-Reid Express
December 1-15, 2009 Table: 7


